Name: Set A

Multiplication Marathon Mile 1

2x3=6
5x2=10
2x7=14
O9x2=18
2x1=2
10x2 =20
2x4=8
2x2=4
. bx2=12
10.2x8=16
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Name:

Multiplication Marathon Mile 2

O 00 N O U A WM E
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2x4=8
9x10=90
10x7=70
10x4 =40
2x10=20
2x9=18
6x 10 =60
10 x 10 =100
6x2=12

.3x10=30
1x2=2
.10x1=10
.3X2=6
. 8x10=2380
.10x5=50

Set A



Name: Set A

Multiplication Marathon Mile 3

1. 5x2=10 11. 5x7=35
2. 5x5=25 12. 2x6=12
3. 3x2=6 13. 3x5=15
4., 5x1=5 14. 1x10=10
5. 8x2=16 15. 10x6=60
6. 10x3=30 16. 5x9=45
7. 8x5=40 17. 7x2=14
8. 2x4=8 18. 4x5=20
9. 6x5=30 19. 9x10=90
10. 2x2=4 20. 10x5=50



Name: Set A

Multiplication Marathon Mile 4

1. 5x4=20 11.5x|8 [=40
2. 10x8=280 12.10x 10 =100
3. 5x| 2 |=10 13.7x5=35
4.17 [x10=70 14. 2 x|10 |=20
5. 1x5=5 15.| 1 [x2=2
6. 5x9=45 16.5x10=50
/7. 2x|8 |=16 17.7x2=14
8. 3x5=15 18.| 5 [ x5=25
9.16 |x5=30 19.10x| 6 |=60

[N
<
A

x 10 =40 20.2x2=4




Name:

Set A

Multiplication Marathon Mile 5

2x2=4

2Xx|9 [=18

10+5=2
5x5=25
60+10=6
3x10=30

9 |x10=90

35+5=7

0 0 N o Uk W DN

14=+-2=7
10. 4 x 10 =40

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

6 [x2=12
15+5=3
2x8=16
20+10=2
5 x2=10
5+5=1
5x|9 [=45
30+5=6
10x7=70
100 +10=10



Name: Set A

Multiplication Marathon Mile 6

1. 5x4=20 14.3x5=15
2. 4x3=12 15.1 2 [x2=4
3. 2x|4 |= 16.50+5=10
4. |8 |x5=40 17.9x3 =27
5. 3x7=21 18.40+10=4
6. 14+2=7 19.3x10=30
7. 1x3=3 20.5x|5 25
8. 20+2=10 21.8x3=24
9.17 [x10=70 22.9%x10=90
10.3x2=6 23.2+2=1
11.2x|5 F10 24.3x3=9
12.20+10=2 25.18+2=9
13.6x3=18



Name:

Set A

Multiplication Marathon Mile 7

2xXx8=16

9 |x5=45

3x7=21
2x4=28
10x| 5 |=50
60+10=6
50+5=10
6x4=24
10 x

8 |=80
.18+2=9
.10x4 =40
.3x8=24
.8x4=32
.2X|6 |=12
.20+5=4

16
17

18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

.4x4=16

.3 X

6 |=18

10
10 x

3

4x9 =36
2x3=6
35+
4x1=4
4+2=2

5=7

x 10 =100
/7 |=70

4x7=28
5x5=25
15 +
3x4=12
Ox3=27

5=3

Xx3=9



Name:

Set A

Multiplication Marathon Mile 8

/7x3=21

4

Xx5=20
5+1=5
double 8 =16

5

=10

28 +4=7
15+-3=5
3x9=27

1
2
3
4
5. 2X
6
7
8
9

5x

6

=30

10.30+3=10
11.5x10=50
12. double 25 =50
13.18 +3 =6

14. 4 x

6

=24

15.12+4=3

16
17

18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

. 8+4=2

.3 X

3

2

2 X

=9

double 12 =24
9x10=90

16 -4=4
3x2=6

24 +3=8

x5=10

7

4

=14

double 34 = 68
2x10=20
3+1=3
4x8=32
36+4=9

Xx3=12



Name:

Set A

Multiplication Marathon Mile 9

1. double7=14
2.1 6 |x10=60
3. 36+4=9

4. halfof16=8
5. 12+ 4 |=3
6. 4x1=4

7. |25 [+5=5
8. 5x7=35

9. 12+|6 |=2
10. 8 x 10 =80
11.24+3=8
12.10+1=10
13.4x|4 [=16
14.5x 10 =50
15.27+|9 =3
16.3x3=9
17.10x |7 |=70
18. double 26 =52

19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.

34.
35.

30|1+3=10

32+4=8
half of 12 =6
5x4=20

8 Ix5=40

6|2 |=3
half of 28 = 14
2+1=2

30+ 3 (=10
4x7=28
half of 42 = 21

40 (=4 =10

2x5=10
6+2=3
double 54 =108
/7x3=21

141+2=7




Name:
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B R R R R R R R R
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Set A

Multiplication Marathon Mile 10

6x2=12

9 |x4=36
28 +4=7
5x6=30
24+ 8 [=3
6x10=60

8 |+4=2
double 37 =74
20+ 2|=10
.6x1=6
4+4=1

. half of 30 =15
.4x| 3 |=12
.3x6=18
.50+ 51=10
. double 50 = 100
.4x|14 | =16
.9x6=54

19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.

16|1+2=38

27+3=9
6x7=42
half of 50 = 25

2 |x2=4

18 +19 (=2
8x6=48
half of 24 =12
45+ 9 |=5
1x10=10
5x3=15

9 |+3=3

4x8=32
6bx4=24
21 +3=7

20(+4=5

6x6=36



Name:

Multiplication Marathon Mile 11
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Set A

Ox2=18

10| x10=100
15+3=5
/7x9=63
quarter 12 =3
8x6=48
40+4=10
1x9=9
12=|3 |=4
.10x 8 =80

. half of 18 =9
.24+3=8

. quarter 24 =6
.9x5=45
12+(4 |=3
.6X6=36
.5x6=30
.9x9=81
A35|+5=7

. double 21 =42

21

22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.

4x9 =36
8x4=32

4 (x4=16

18+ 3 [=6
quarter 48 =12
9x8=72
40+ 8 |=5
3x9=27
6x7=42
14+2=7
10x9 =90

6 |[x10=60

3x1=3
bx4=24
30+10=3

8 [+4=2

half of 70 = 35
9x6=>54
quarter 28 =7/
Ax| 7 [=28




Name:

Multiplication Marathon Mile 12
. double 14 = 28

Set A

A5 [x6=30

.36+-6=6
. 4x0=0

.9+(3
. 100 x 6 = 600
.18+6=3

. quarter 60 =15

10
11
12
13
14
15
16
17
18
19

20.

=3

1
2
3
4
5.5x 1000 =5000
6
7/
8
9

.21+

/7 |=3

. 9x9=281

.27 +

9=3

.5+1=5

. 10 x

100 = 1000

.6+-6=1

.42 =

/7 |=6

. half of 36 =18
. 9x100 =900
. 6x8=48

54

+9=6

21
22

23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.

.16+2=8
.0x3=0
5x10=50

7 |x9=63
36-9=4
4x8=32

60 +|10|=6
12x0=0
1000 x 25 = 25000
12+ 2 |=6
half of 90 =45
72+9=28

18 +9=2

15 x 100 = 1500
8 |x 100 = 800
5x8=40

6x| 4|=24
45+9=5
20|+4=5

10 x 25 =250




Name:

Multiplication Marathon Mile 13

N NNNNRRRRRRRRRR
RWNRPROWLONOODUNWNERLO

25

.12 =
.5x7=35
.32+4=8
.100x 72 =7200

Set A

.double 62 =124

4 Ix9=36
6+-3=2

. 7x10=70
.6x7=42

31=4

.18 +

6 1=3

.7x7=49
2+1=2

.18 +

9=2

Ix1=7
.6x0=0

.20 =+
.10 x

2 |=10
50 =500

.9x7=63

. half of 58 = 29

20
.12+

. quarter 56 = 14

+2=10
9=8

I x4=28

2

X6=12

.4+

4=1

26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44,
45.

7x8 =56
100 +| 10|=10
8x3=24
0x19=0
16+|4 |=4
3x7=21
6x6=36
30-6=5
5x5=25

9 Ix9=81
1000 x 17 =17000
6x| 9 |=54
45+5=9
9((+3=3
quarter 72 =18
2x7=14

24 =6=4

9x |3 |=27
6x8=48
30+-10=3




Name:

Multiplication Marathon Mile 14

NNNNNRRRRRRRR R |
RWNRPROWLONODUANAWNERDO

25.

Set A

.6x8=48

0[x7=0
40+4 =10

. 100 x 20 = 2000
.1x8=8
.10+ 2 |=5
.10x 8 =80
.56+7=8

. double 35 =70

24+ 6|=4
.9x10=90
.54+9=6
.20+4=5
.8x5=40
.2x4=8
.18+ 3|=6
.5x3=15
.9x9=81
.25x10=250
36|+6=6

. quarter 84 =21
.8x4=32
.27 x10=270
2 |x2=4
12+3=4

26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44,
45.
46.
47.
48.
49.
50.

O0x8=0
60+[10|=6
8x8=64
6x7=42
100 +(10|=10
3x8=24

18 x 1000 = 18000
half of 68 = 34
8x9=72

9 |x3=27
2x7=14

/x| 4 |=28
6+2=3

30 (+3=10
4x9=36
8x2=16
10+-1=10
7x|3 =21
100 x 8 =800
45 +9=5
7x8 =56
24 - 6=4

9 [x7=63

quarter 76 = 19
7x7=49



Name:

Set A

Multiplication Marathon Mile 15

.35+7=5
7 Ix7=49
40+10=4
. double|12
.5x4=20
.24+ 3 |=8
.10x2 =20

.28 +7=4

. double 137 =274
.63+ 9 |=7
.4x3=12

.16 +8=2

. 2500 +100 =25
.6x5=30

. half of 120 =60

. 6200 +[100|= 62
.5x10=50
.9x7=63
.4x4=16
56[+7=8
.quarter448 =112
I x6=42
.127x10=1270
31x9=27

25. 40+8=5

24

[EEY
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26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44,
45.
46.
47.
48.
49.
50.

O0x100=0
64+ 8 [=8
7200+ 10=720
6x3=18
700 +| 10|=70
6X6=36

20 x 1000 = 20000
half of 94 = 47
7000 = 1000 =7
/7 Ix3=21
2x6=12

5x| 7|=35
32+-8=4

14 |+7=2
1x9=9
9x2=18
72+8=9

2x |5 (=10
100 x 80 = 8000
9+3=3

half of| 32|= 16
8000 + 100 =80

3 [x7=21

qguarter 100 = 25
418 -8=6



Name:

Set A

Multiplication Marathon Mile 16

1.20x 8 =160
2.110]|x 20 =200
3.450+5=90
4.2x30=60
5.5x50=250
6.15+|5 |=3
7.9x6=54
8
9

. half of 250 = 125

. 8x50=400
10.24+|4 |=6
11.1x30=30
12.350+5=70
13.28 +4=7
14.3x6=18
15.90 x4 = 360
16.64+| 8 [=8
17. double 75 =150
18.80x9 =720
19.7x8 =56
20.490 +7 =170
21.15+5=3
22.50x 6 =300

23.341 x 100 =34100
24. |18 [x6=48
25.240+4 =60
26.0x25=0

27.16 x| 4|=4
28.80x4 =320

29. quarter 260 = 65
30.480+(6 |[=80

31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44,
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.

9x2=18
double|43|=86
280+ 7 =40
2x6=12

8[x3=24

6x10=60
4x|5 =20
800+8=100

1400+-2 =70

6x6=36

half of [38 [=19
210+ 7 =30
2x|4 |=8
9x9=81

280 +10=28
9x30=270
3x4=12
5+5=1
6(x7=42
3x30=90
360+9=40
1000 x 16 = 16000
7x9=63

8 x| 60f =480
5400+ 100 =54




Name: Set A

Multiplication Marathon Mile 17

1.5x40 =200 31.6x4=24

2.17 Ix3=21 32. double|75]|= 150
3.420+6=70 33.540+9=60
4.2.5x10=25 34.5x5=25
5.2x60=120 35.12 [x4=8
6.21+(3 |=7 36.1.99x10=19.9
7.7x7 =49 37.2x|5 |=10

8. half of 500 = 250 38.400+20=20
9.9x3=27 39.180+9=20
10.320+ (8 |=40 40.40x3 =120
11.1x7=7 41. half of |74 |= 37
12.100+50=2 42.400+5=80
13.81+9=9 43.3x| 8 =24
14.9.6 x 100 = 960 44.9x8=72
15.2x3=6 45.450+90=5
16.14+|2 | =7 46.5 x 60 =300

17. double 68 = 136 47.3.45 x 100 = 345
18.90x 7 =630 48.50+10=5
19.3x8=24 49.]1 9 |x40 =360
20.|170(+10=7 50. 6 x 60 = 360
21.2600 + 10 = 260 51.350+70=5
22.8x8=64 52.1000 x 4 = 4000
23.7.5x1000 = 7500 53.6x3=18

24. | 7 | x8 =56 54.8 x(40] =320
25.350+70=5 55.3700 + 100 = 37
26.0x3.5=0 56.9.6528 x 1000 = 9652.8
27.15+| 5| =3 57.40+8=5
28.10x 10 =100 58. double 18 = 36
29. quarter 148 = 37 59. 3.75 x 1000 = 3750

30.160+(2 |=80 60.10x 37 =370




Name:

Set A

Multiplication Marathon Mile 18

. 8x30=240

3 |1x5=15
540+ 6=90
.4x10=40
7x4=28
.16+18 | =2
8x12=96

. half of 300 = 150
12x2=24
12+ 3 1=4
11x7=77
.56+7=8
.450+5=90
.6x7=42
11x1=11
.48+ 6 |=8

. double 45 =90
.12x3=36
A4 x4=16
91+3=3
.27 +3=9
.2x11=22
.70x30=2100
7 |x9=63
.35+5=7
.9x11=99
42+ 71=6
.4x12=48

. quarter 92 =23
.36+19 =4
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31.3x11=33 61.8.56 x 10 =85.6
32. double[16]=32 62.12x10=120
33.180+6=30 63.49+7=7
34.12x6=72 64.1 6 | x3=18
35.1 51x4=20 65.12x 12 =144
36.5x11=55

37.2x|6 |=12

38.150+30=5

39.14|1+2=2

40.12x11=132

41. half of (180 =90
42.140+2=70
43.3x|0 |=0
44,11 x4 =44
45.36+9=4
46.5x12 =60
47.42.6 x 100 = 4260
48.80+20=4

49.1 3|x10=30
50.6x 11 =66
51.63+9=7
52.9x12 =108
53.11x8 =288
54.9x| 6]|=54
55.24+8=3
56.12x7 =284
57.8+4=2

58. double 254 = 508
59. 29.61 x 1000 = 29610
60.11x11=121




Name: Set A

Multiplication Marathon Mile 19

Some questions have decimal answers (do not use remainders).

1.8x10=280 31.120+12=10 61.7.5+10=0.75
2.16 |x5=30 32. double|32|=64 62.48 +12=4
3.55+11=5 33.22+11=2 63.121+11=11
4.4x8 =32 34.90+100=0.9 64.15 | x4=20
5.74+100=0.74 35.1 4 |x3=12 65.10x 10 =100
6.66+|6 |=11 36.3.7x100 =370 66.18+[ 2 |=9
7.72+12=6 37.5x|3 [=15 67.108 +12=9
8. halfof 5=2.5 38.99+11=9 68. double 99 = 198
9.6x4=24 39.127|1+9=3 69. 205 + 1000 = 0.205
10. 12+ 1 ]=12 40.2x7 =14 70.60+12=5
11.2x5=10 41. half of |74 | =37

12.55+11=5 42.36+12=3

13.84+12=7 43.7x | 51|=35

14.8x5=40 44. 8 x 8 = 64

15.15+10=1.5 45.77 +11=7

16.18+|9 [=2 46.8x 6 =48

17. double 2.5=5 47.3+10=0.3

18.132+12=11 48.110+11=10

19.2x3=6 49.1 2|x8=16

20.(25[+=5=5 50.12x0=0

21.44 =11 =4 51.11+11=1

22.9x10=90 52.9x9=81

23.80x90=7200 53.5x9=45

24. 13 |x8=24 54.6x[5 =30

25.24+12=2 55.132+11=12

26.8x1=8 56.6x7=42

27.88+|8 |=11 57.33+11=3

28.7 x70=490 58.30x7=210

29. quarter 500 =125 59.5.4 x 1000 = 5400

w
o

.96+ 8 =12 60.144 +12 =12




Name: Set A

Multiplication Marathon Mile 20

Some questions have decimal answers (do not use remainders).

1.9x11=99 31.24+3 =8 61.2x£3.99=£7.98
2. 14 | x4=16 32. double|14|= 28 62.80+4 =20
3.35+7=5 33.£3.50x2=£7 63.12+2=6

4. 4km = 4000m 34.60+10=6 64.| 7 |[x5=35
5.64+8=8 35.35mm = 3.5cm 65.9x3=27
6.21+|3 | =7 36.0.5x 100 =50 66.16+| 8 [=2
7.108+12=9 37.5x|9 |=45 67.54+-6=9

8. half of 36 =18 38. 2L =2000ml 68. double 175 =350
9.9x4 =36 39.1811+9=9 69.40+10=4
10.28 =7 |=4 40.12x7 =84 70.11x1=11
11.3x6=18 41. half of [300[ = 150

12.88 =11 = 88 42.28~7 =4 *Also accept equivalent
13.3 x 50p = £1.50 43. 2.5km =2500m frzci:{:g'o?:)fwe“ (those with
14.8x 12 =96 44.8x7 =56 0.5=0.50 = 0.500, etc.
15.630+9=70 45. 950 + 100 =9.5* £2 = £2.00 but not £2.0
16.49+|7 |=7 46.11x6 =66

17. double 6.5 =13 47.5.7m =570cm

18.2+2=1 48.32 - 8=4

19.9.7 x 10 =97 49.6 |x9=54

20.[20|+5=14 50.25x0=0

21.490+7=70 51.44+11=4

22.9850g = 9.85kg* 52.40p x 3 = £1.20

23.80x 3 =240 53.5x5=25

24. 19 |x8=72 54.6 x| 6 |=36

25.240+120=2 55.60+30=2

26.12x3 =36 56.5x2=10

27.24 =1 4 |=6 57.35+10=3.5

28.4x1=4 58.6x8=48

29. quarter 200 = 50 59. 600m = 0.6km*

w
o

.70 +[10]=7 60. £1.44 + 12 = 12p




Name: Set A

Multiplication Marathon Mile 21

Some questions have remainders, but if dividing by 10, 100, 1000, halving or quartering give answers as a decimal number.

1.3x11=33 31.110+11=10 61.3 x £1.99 = £5.97
2.[4x3=12 32.double[3421=684  62.22=4

3.19+ 2 =9R1 33.11x 8 =88 63.120+12 =10
4. 8km = 8000m 34.6% =36 64.19 | x3=27
5.24+2=12 35. 50mm = 5cm* 65.4%x2=8
6.48+[8 | =6 36.2.5x10 = 25 66.20+[2 | =10
7.43 +5=8R3 37.18 + 5 =3R3 67.680 + 100 = 6.8*
8. halfof 3=1.5 38. 800ml = 0.8L* 68. double £2.50 = £5*
9.5x12 =60 39.[36] + 5=7R1 69.14+2=7
10.24+| 6 |=4 40. 92 =81 70.3%=9
11.3x7=21 41. half of [70] =35 71.8x9=72
12.42=16 42.42 + 8 =5R2 72.79+11="7R2
13.8 x 20p = £1.60 43.1.8km = 1800m 73.1.5L=1500ml
14.20 x 2 = 40 44,2 x 11 =22 74.6x7 =42
15.108 +9=12 45, 72 = 49 75.117=121

16. 58 + 100] = 0.58 46.12x6 =72

17. double 47 = 94 47.0.5m = 500cm di\'cfazf;iztveejg'(vti's:; .
18.82=64 48.72+9=38 trailing O's):
19.0.165x100=16.5 49.|11[x11=121 0.5 = 0.50 = 0.500, etc.
20.[35]+ 8 = 4R3 50.0.04x 10=0.4 £2 = £2.00 but not £2.0
21.450 + 10 = 45 51.102 = 100

22.300g =0.3kg* 52.50p x 9 = £4.50

23.122= 144 53.5x6 = 30

24. {7 |x8=56 54.7 x|11] =77

25.£1.50 + 3 =50p 55.55+11=5

26.12 x 11 =132 56.12=1

27.52=125 57.56 +9 = 6R2

28.6x3 =18 58.4 x 12 = 48

29. quarter 10=2.5 59. 2500m = 2.5km*

w
o

.46 +[11]=4R2 60. £0.63 = 7 = 9p




Name:

Set A

Multiplication Marathon Mile 22

Some questions have remainders, but if dividing by 10, 100, 1000, halving or quartering give answers as a decimal number.

1.12x11 =132
2.3 |x9=27
3.70+10=7

4. 1.5km = 1500m
5.24+12=2
6
7
3
9

.V36=6
.3+100=0.03
. half of 45=22.5
.Ix2=14
10.12+] 6 |=2
11.8x6 =48
12.v25=5
13.7 x 80p = £5.60
14.20x 3 =60
15.15+4 =3R3
16.24+|8 | =3
17.v49 =7
18. 62 =36
19.5.2 x 100 =520
20.V1=1
21.17 +3=5R2
22.1800g =1.8kg*
23.V121 =11
24. [20|x 5 =100
25.£2.40 +8=30p
26.9x7=63
27.82=64
28.4x8=32

29. quarter 300 =75

30.44+1 4 1=11

31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.

30+10=3
double|3.5=7
11x6=66
V16 =4
250mm = 25cm*
6x7=42
12+6=2
2000ml = 2L*
471 +9=5R2
96 +12=8
half of |13 [=6.5
18+9=2
V144 =12

12 x4 =48

V9 =3
9x6=>54

2m = 200cm
36 +12=3

4 I1x5=20
V64 =8
6x1=6
3.7+10=0.37
12x6=72
9x[4 |=36
99+11=9
8x5=40
25+ 6=4R1
6x3=18
25m = 0.025km
V81 =9

61.4 x £2.05= £8.20
62.v100 =10

63.23 +5=4R3

64.1 7 |x12=84
65.11x10=110
66.10+|5|=2
67.39 +4 =9R3

68. double £1.80 = £3.60
69.30+4 =7R2
70.4% =16
71.7x30=210
72.59+11=5R4
73.0.4L = 400ml
74.10x0=0

75. V4 =2

76.0.45 x 1000 = 450
77.30+7 =4R2
78.18 x 10 = 180

79. 65+ 8 =8R1
80.10° =100

*Also accept equivalent
decimal answers (those with
trailing 0’s):

0.5 =0.50=0.500, etc.

£2 =£2.00 but not £2.0



Name:

Set A

Multiplication Marathon Mile 23

Some questions have remainders, but if dividing by 10, 100, 1000, halving or quartering give answers as a decimal number.

.9x8=72

51x8=40

.27 +5=5R2

. 4km = 4000m
.60+12=5
.V25=5

77 +11=7

. half of 28 = 14
4x3=12

10.
11.
12.

108 +[9 =12
3x15=45
5x11=55

13.2 x 50p = £1*

14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

5x12x4 =240
90+10=9
217 |=3
V4 =2

92 =381

37 x 100 =3700
15x5=75

11 +3=3R2
750g = 0.75kg™
Ve =4
3|x7=21
£3+5=60p
2x7=14

7% =49
5x17=85
quarter 60 =15
54+|16 (=9

31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.

39 +6=6R3
double| 25|=50
9x13 =117
V49 =7

5cm =50mm
13x2x5=130
54+-6=9
40ml = 0.04L*
4x9=36
9+9=1
half of [18 [=9
38 +3=12R2
10x8 x4 =320
5x10=50
25x4 =100
10x11 =110
0.45m =45cm
125 +12=10R5
4 |x4=16
V81=9
6x2x5=60
3.7+10=0.37
12 x 1000 = 12000
9x|5 |=45
72 +7=10R2
V121 =11

25 +100=0.25
3x25=75

40 x 6 = 240

56 +7=8

61.6 x 8=48
62.4x18=72
63.30+6=5
64.|0 |x12=0
65.11x2=22
66.10+| 1|=10
67.8+2=4

68. double £2.30 = £4.60
69.33+11=3
70.12%2 =144
71.7x5=35
72.86 +8 =10R6
73.1.2L=1200ml
74.3 x50=150
75.6x13 =78
76.2x6=12
77.21+4=5R1
78.185 x 10 = 1850
79.81+9=9
80.3%2=9
81.2x9=18
82.18+10=1.8
83.8x4x5=160
84. 20p x 3 =£0.60
85.[28[{+7=4

*Also accept equivalent
decimal answers (those with
trailing 0’s):

0.5 =0.50=0.500, etc.

£2 =£2.00 but not £2.0



Name:

Set A

Multiplication Marathon Mile 24

Some questions have remainders, but if dividing by 10, 100, 1000, halving or quartering give answers as a decimal number.

.5x12 =60

3 [(x9=27
.55+5=11

. 600m = 0.6 km*
.16+-2=8

.% of 100 =75
.63 +9=7

.half of 1=0.5
.20x5=100
.240+ (3 |[=80
.13 x8=104
.Yof24=12
.4 x10p =£0.40
.3x12x4=144
.41 +4 =10R1
.72+16 =12
V144 =12
.52=25
.20 x 30 =600
.12x8=96
.320+40=28

. 3.4kg = 3400g
.V36=6

10{x 5=50
.2/30f18=12
.5x1=5
.12=1
.8x7=56
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.30+|10]=3

. quarter 1000 = 250

31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
54.
55.
56.
57.
58.
59.
60.

121+11=11
double|142 = 284
8x8 =64

V64 =8

2.5cm =25mm
2x35x5=350
49 +7=7

4/5 of 45 = 36
4x12=48
80+10=8
half of [50 [= 25
28 + 6 =4R4
10x 8 x7 =560
2x4=8
%0f12=9
10x0.25=25
6m = 600cm
63 + 6= 10R3
4 |x8=32
Vi=1
6x5=30
65+ 100 = 0.65
7x4=28
8x|5 =40
69 +11 =6R3
V100 =10
1/30f12=4
12+3=4
16x7=112
42 - 6=7

61
62
63

64.

65
66
67

68.
69.
70.
71.
72.
73.
74.
75.
76.
77.
78.
79.
80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.

2/30f9=6
dx4=16
240+3 =80
/7 | x5=35
27 x8 =216
22 +|10| = 2R2
66+-6=11
double £2.79 = £5.58
46 +10=4.6
2/50f30=12
7x6=42
5+2=2R1
20ml =0.02L*
3x5=15
2x11=22
2/50f 25 =10
88+11=8

6 x30=180
47 =5 =9R2
112=121
19x7=133
36+12=3
7x4x5=140
10p x 6 =£0.60
36| +6=6
12x2=24
8x9=72

£2 +4=50p
210+3=70
9x12 =108




Name: Set A

Multiplication Marathon Mile 25

Some questions have remainders, but if dividing by 10, 100, 1000, halving or quartering give answers as a decimal number.

1.11x12 =132 34.9x4 =36 67.31x9 =279
2.17 |x6=42 35.31cm =310mm 68. double £3.70 = £7.40
3.8:2=4 36.11x1=11 69.21+7=3
4. 60m = 6000cm 37.45+5=9 70.3/100f30=9
5.72:8=9 38. 4/5 of 25 = 20 71.7x12 =84
6.50% of 12 =6 39.5x3 =15 72.38+3 = 12R2
7.88+8=11 40. 145 + 12 = 12R1 73. 350ml = 0.35L*
8.17 x 6 = 102 41. half of [25 | = 12.5 74.2x9 =18
9.23x5=115 42.50+10=5 75.8x7 =56
10.63+[9 |=7 43.2x12x12 = 288 76.10% of 90 = 9
11. 26 x 3 = 78 44.6x 4 = 24 77.60+12=5
12. % of 36 =18 45. % of 24 = 18 78.4x4=16
13. 10 x 10p = £1* 46.10x 3.81=38.1 79.48 + 11 = 4R4
14.2x 12 x 6 = 144 47.2750m = 2.75km* 80.22=4
15.96 + 9 = 10R6 48. 103 + 9= 11R4 81.v49 =7
16.36=[6 |=6 49.[50 | x7=350 82.810+90=9
17.V16 =4 50. 25% of 40 = 10 83.9x6x5=270
18.62=36 51.3x11=33 84. 50p x 8 =£4*
19. 75% of 200 = 150 52.160 + 8 = 20 85.[25 | = 10=2.5
20.12x 2 = 24 53.17 x 4 = 68 86.5x2 =10
21.120+ 40 = 3 54.9x[ 5 |=45 87.6x9 =54
22. 5kg = 5000g 55.180 = 20 = 9 88. £2 + 10 = 20p
23.v9 =3 56.v121 =11 89.120+10=12
24.[2 Ix6=12 57.1/30f27=9 90. 7 x 7 = 49
25.2/3 of 21 = 14 58.3+3=1 91. 82 = 64
26.3x2=6 59. 6 x 80 = 480 92. 100 x 9.6 = 960
27. 50% of 48 = 24 60. 300 + 6 = 50 9. 3- ¢
28.10x 7 = 70 61.0.6x0=0 T O
29. quarter 1 = 0.25 62. 60% of 30 = 18 10
30.120=+[10]=12 63.0.2 + 10 = 0.02 9. 1-[3
31.99+11=9 64.[4 |x7=28 2T
32. double fl7.5)= 35 65.12 < 6 |=2 4 12
33. 1 _[3 66. 5 _[¢ o 6=1

2 6 3 9 1215




Name: Set A

Multiplication Marathon Mile 26

Some questions have remainders, but if dividing by 10, 100, 1000, halving or quartering give answers as a decimal number.

1.9x8=72 35. 8.5cm = 85mm 68. double £4.95 = £9.90
>[4 Ix6=3x8 36.2x5=10 69.77 +11=7
3.200=50=4 37.47 + 4 =11R3 70. % of 20 = 15
4.3.1m = 310cm 38.4/5 of 45 = 36 71.11x11=121
5.49+7=7 39.5x7=35 72.81+8=10R1
6.3x6=18 40.80+ 7 = 11R3 73. 1500ml = 1.5L*
772 +7=10R2 41. halfof [9 |=4.5 74.14 x 6 = 84
8.12x11=132 42.90+10=9 75.8 x 8 = 64
9. 7x8=56 43.2x9x8=144 76.10% of £3.90 = £0.39 or 39p
10.63 =7 1=0.9x 10 44.8x 12 =96 77.4+2=2
11.5x3 =15 45. % of 36 = 27 78.4x7 =28
12 % of 24=6 x| 2 46. 100 x 67 = 6700 79.28 +5=5R3
47.13,000m = 13km* 80. 72 =49

13.9x20p =£1.80 ’ 49KmM
14.6 x4 X2 =48 48.24 +4=6 8l.v4 =2
15.320+40=8 49.18 |x6=48 82.72+12=6
16.27 =3 =9 50.25% of 80 =4 x |5 83.3x8x5=120
17.V25 =5 51.9x6 =54 84.20p x 8 =£1.60
18. 92 =81 52.32+-8=4 85.B701+10=37
19. 75% of 16 = 12 53.19x9=171 86.7x2=14
20.23 x4 =92 54.7 x| 6 =42 87.25% of 48 =12
21.420 = 6 = 70 55. 60 + 3 = 20 88.£3 +6=50p
22.25g = 0.025kg 56.v81=3x[3 89.63+9=7
23. V64 = 8 57.1/3 0f 36 =12 90.5 X211 =55
24.[5 |x8=10x4 58.36+6=06 91.12° =144
25 273 0f 12 = 8 59 10 x 10 = 100 92.100x 0.05 =5
26.3x 70 = 210 60.24+8=3 93.48+8=6
27.50% of 60=[6 |x5  61.10°x0=0 94.6x10=60
8. 12 x 4 = 48 62. 60% of 50 = 10 x [ 3 95.120+20=6
29. quarter 12 =3 63.275+10=27.5 96.8x8 = 640
30.450 <[5 1= 90 64.[ 9 | x12 =108 97.0.5=[50 %
31.24+ 11 = 2R2 65.36+| 9 |=4 98.81+9=9
32. double [35]= 70 66.12x 1=12 99.4°=16
33_4= al= 16 67. 9= 3 100. 3=6
% T 00O 12 4

5 10 [ 4 8




